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Th:w?\el‘ the rOUOHj_Qg questions:
\'Nt question:
wg correct answer:
1) Peo =0.97, Py =0.96and I, - sz = 120, they
€ probability that a person aged (40) will live to r eﬂl!h age (42) is.

2) 5 ) 08312 b) 0.9312 €) 0.7 (d) other 2BSWer:
5 Probability that a person aged (40) will live 10 '“ch age (43) is.
3) th 0.8671 b) 0.6671 )0 : 7;5 1 3 (d) other answer-
the number of livings at exactly age 40 cquisn.; ..
a) 1644 ;; 1544 pedtCe ) 1744 i (d) other answer.
4) the Rumber of livings at exactly age 41 (lg) equalsgg,
a) 1797 b) 1592 0) 1697 (d) other answer.
S) the Bumber of livings at exactly age 42 (ls2) equalsty,
a) 1624 b) 1724 0) 1524 (d) other answer.
6) the number of deaths at the age 42 (dy2) equals to....
a)212 b) 112 c) 312 (d) other answer.
7 Pmbablllt\ that a person aged (40) will die at age (43) year.
a) 0.0641 b) 0.0541 ¢) 0.0441 (d) other answer.
8) Probability of dying of a person 40 years oid between e age 41 and age 43 exactly.
a) 0.1229 b) 0.1129 c) 0.1029 (d) other answer.
9) the number of deaths at the age 40 (d40) equals to...,
a) 55 ¥ b) 52 ¢) 56 (d) other answer.
10) the number of deaths at the age 41 (d4;) equalsto......
a) 62 b) 61 c) 68 (d) other answer.
11) The probability that a person aged (40) will live to reach age (44) is.
a) 0.8671 b) greater than 0.8671 c) less than 0.8671 (d) other answer.
12) The probability that a person aged (40) dies before age (44) is.
a) 0.25331 b) 0.1531 c) 03531 | (d) other answer.
13) The probability that a person aged (40) dies before age (45) is.
a) 0.20 b) greater than 0.20 c) less than 0.20 (d) other answer.

<+ A person aged 35 wishes to purchase life annuity that will pay $1 at the age of
14) 36 and the same amount at the end of each year thereafter for life. The net single premium is

N37+D3g N3s:Dss N3s—N3e
— —— e c e ———
a) r b) e 2 ) Dae d) other answer.
15) 35 and the same amount each yvear thereafter for life. The net single premium is .......
N3g—Ds3s N3s—Nyg N3¢+D35
a) o b) = 1 c) e d) other answer
16) 40 and the same amount each year thereafter for life. The net single premium is .......
Ngg Ngo+Dgy Ngo—Dso
— _ —_ d) oth .
a) " b) o ) s ) other answer.
17) 36 and the same amount each vear for 5 years only. The net single premium is .......
N3s—Ng1+D i~ Naig—-N
g) A —HTo b) 26~¥e1+Dss 4 4 ) 2 d) other answer.
D35 Dis D3s
18) 35 and the same amount each year for 10 years- The net single premiumiis .......
N35—N4s+2D3s5 Nz +Ngs+D3s Nig
vk A 35 =34
) D b) ———3;5—'— ) Bay d) other answer.
19) 40 and the same amount each year for 15 years. The nef single premiumis .......
Nss+D N =
a) N39+Dss+ 40 b) N3g—Ngs+Dso c) N41—Ns5+4D3s5 d) other & -
35 Dis D35
** $10 whole life policy is issued to a man aged 25.
20) the net single premiumiis ... .. .......
Mze My Mz
a) 10 x = b) 10 X e ¢)10 x o ~ d) other answer.
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21) if the policy is straigh! life policy, tzs tanny

e iDoa d swer.
a) 10 x % b) 10 X =0 ¢ 10 X Fe+Dz5 ) other an
. 2 . . . -
22) if the polic; s zg.pa,\'me'“ life policy, tl:'e Net anpyal preml“m |s£'. .......
a) 10 x —Nz b) 10 X 7= )10 X = j; d) other answey,
o N26=N4s+Dys . ~25=Dy¢ 26=N4s R
’ 2A3fl 20-year endowment insurance policy Was bo“gh tby someone aged 40.
the net Sill . 1€ ,eev0vstunnass
gle premjum 15 =+ 10"~
a) Meo~Mao+Deo p) =Moot Dso Moo=Mao+Deo P F—
24) th Dyo Nso-Nn c) D60
the net annual premium is -+
mium
a) Meo—M4o-Dgo b) Mao—Meo—Dso Meo—M40+Dso d) other answer.
Ngo-Nao Nio—Neo ¢) N4o—Nzo

25) assume that the net angual premiunl is payabje in 15 equal annual payments, the size of the annyg|
Prémium payment is ........-

a) Mso=Myo-Dgo b) Myo—Meo—Deo Mgo—M40+Deo d) other answer.
- Nss—N N4o—Nss ) ™ NeoN
55—=Ng4g B« 8 40755 it

The second question: ; i
Using the only computation symbol (N)Withgyg (M) or (D), find the net single premium
for life annuities: |
(a) ;L five- year life annuity of 108 per year for g Person aged 20 if first payment is to pay made at age
1. |
(b) A five. year life annuity of 108 per year for a person aged 20 if first payment is due now,
() A five- year life annuity of 10 per year for a Person aged 20 if first payment is due at age 40.
(d) fA life annuity of 10 § for a person aged 21 and the same amount at the end of each year thereafter
or life.

() A life annuity of 10 § for a person aged 20 and the same amount at the end of cach year thereafter
for life.

The third question:
Using the only computation symbols (N)and (M) for life insurance policy:

(a) $10 whole life policy is issued to a man aged 25, Find the net single premium.

(b) $10 whole life policy is issued to a man aged 25 if the policy is straight life policy, find the net
annual premium.

(c) $10 whole life policy is issued to a man aged 25, if e policy is a 20-payment life policy, find the
itet annual premium.

(d) A $100 20-year endowment insurance policy was bought by someone aged 40. Find the net single
premium.

(e) A $100 20-year endowment insurance policy was bought by someone aged 40. Find the net annual
premium.

(1) A $100 20-year endowment insurance policy was bought by someone aged 40 and assumes t'hat
the net annual premium is payable in 15 equal annual payments, Find the net annual premium.

—
e —

Finish of the exam

(2) e




